ISASMO Sample Paper (S3)|

1. Inrectangle ABCD, P is the midpoint of side BC and Q is the midpoint of CD. The area of aAPQ is
what fractional part of the area of rectangle ABCD?
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2. Find the value of integral part of V1+3+5+...445+47+49 .
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3.  How many degrees are in the angle formed by the hands of a clock at 8:24?
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4. How many different triangles can be formed whose 3 vertices are chosen from the rectangular array of 8

points shown?
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5. Line segments form a path that starts at (0,0), is drawn to (1,0), and then to (1,2). Each new segment forms
a right angle with the segment before it and is 1 unit longer than that segment. The path ends at (0,0). How
many segments are in the shortest possible path?

(Hint: Consider horizontal and vertical segments separately.)
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6. 561 is the product of 3 different prime numbers. How many factors of 561 are not prime?
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10.

The first three terms in a sequence are: 1, 2, 3. Each term after that is the opposite of the sum of the three
previous terms. For example, the 4™ term is —6 (the opposite of 1+2+3),and the 5™ term is 1. What is
the 99™ term?
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The picture shows a “spiral” that begins at the origin (0,0) and passes through every lattice point in the
plane. Each small arrow is 1 unit in length. Following the “spiral”, what is the length of the path from the
origin to the point (5,3)?
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A circle with radius 5 cm intersects a circle with radius 3 cm as shown. The area of the shaded region is

77” square cm. Find the total combined area inside the circles, but outside the shaded region. Leave your
answer in terms of 7.
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Starting with 1, Sara lists the counting numbers in order but omits all those that use the digit 9.
What is the 300" number on her list?
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